System Test Report for Team 7

2nd

Project Team

Team 7

Team Information
201111341 ¥4
201111345 AL
201211356 ¢3S

o o¥ p¥
du 40 JH
m m
Ok Of Oh
o g
H B H

m



Specification Review

1.1 Stage 1000 Planning
1.2 Stage 2030 Analysis
1.3 Stage 2040 Design
Category-partition Testing Report
2.1  Test Case

2.2  Testing Result
Pairwise Testing Report

3.1  Testing Result

Brute Force Testing Report
4.1  Testing Result

4.2  Failed Case Report
Overall

51  System Test Result



1

Specification Review
1.1 Stage 1000 Planning
1006. Define Business Use Case

2. Identify and Describe Actors
-Customer: 22| Y YF(YUES, 3, T 5)8 +8E 5+ AL

-Admin: ATMZ 22| 5 Q= HTHATM FHEQ)E JHX|2 At
- UserOf OF& AdminO| HA|Z|Of UL,
6. Draw a Use-Case Diagram
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1.2 Stage 2030 Analysis

2036. Define Operation Contracts

public class Send {
Commission commilssion=new Commission();
public static int Amount;
public static int Recelver_Account;

int get_Amount{int amount){
int result;
this.Amount=amount;
result=send_Amount();
return result;

1

int send_Amount(){
commission.get_Commission{Amount):
this.Amount=commission.get_TotalAmount();

return this.asmount;
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2037. Define State Diagram
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1.3 Stage 2040 Design
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1.4

2041. Define Real Use Case

- Actor?l UserZt Ot Customer, Admin2 2 AMEXN QI

2044. Define Interaction Diagrams

- MHHSZ Event, Operation0 CHPH B

Moz wxof Zyo| e

- Actor?l UserZt Ot Customer, Admin2 2 AMEX QI

- Amountktl Commission® Checkdt=
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Stage 2050 Implementation

2051. Implement Class & Methods Definitions

M 2R

$12 MMl Zi1}t Return Valuee M
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Type Class

Mame Send

Purpose Fa7lss sdcte el
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Cross Reference R2.1,1.3
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£ FHSHA| B=Ch

Type Class

Name Withdraw

Purpose =57 s€ o= Bl

Overview(Class) MBI ftle Y=0lF S5 FHECL

Cross Reference R2.2,13

Exceptional Courses of Events | 22/ 20| T2 HOIHL} MY Bod H327|5
= A B=Ch
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1.5

& 7oy bockatm

- NamesS X ZEZ2b LX|SHA ‘CheckRemain'22 +=F EQ

- Method Name2

2052. Implements Windows

2H ZEet XS = ER
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r & Cick Category BuooniSend) ] | 3

T B 11 - Input Password(password)

13 - Input Account 1D(Account_0)) | 14 - or Recaier AccouniAccount_ID)

12 - Check Password(passwied)

15 - Find lnks

[ Ameramom ] |

16 Load info(User_inta)

10 : Get_Adountamount)

20 Get Commission{amount)
21 Check Cumrent Teme

22 Count Commiasion

23 - Get Towloml_amount)
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New Use-case
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2  Category-partition Testing Report
2.1  Test Case

2.1.1 Testable Units

Mode key Category
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2.1.2 Representative Values

Category Values Key
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EECR =89 2o & 1
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7|E} String 4
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7|Et String 4
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7|E} String 4
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2.1.3 ErrorSingle Constraints &-&

Mode Values Option
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2.1.4 Property Constraints
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A&
HZHS 2| O|LHoll A1, DBO| U= 2k [if O™ || 23) && 23283]
[property 2HEH YHT]
2| O|LHoll A1, DBO| Rl= 2k [if Ol | £3) && 212183]
SHEZR/ALEZR & lif OIH | £3) && 239183]
= lif OIH | £3) && 239183]
7|E} String (f OIX | 23) && 212d3]
Sa3g Azt | Hel olLhol AL, DBO| U= [if O|X && SHIEH|UHDT]
[property &2 A %QIE]
Hel ojLfoll AL, DBO| A= [if OIN| && SHEHLHD]
PHERR/ALEEZSR U [if O|Xl && ZSHIEH|UHD]
=T [if O|X && SHIEH|UHZ]
7|Et String [if O|N && ZSHHEH|YHZ]
Ol =4 =R Qtol gt [if O|Xl && &= A ZtQIE]
[property O|X| & %{2H
=T [if [Nl && S3AZQIE]
PHERR/ALEEZSR U [if O|X && &3AZtQIE]
7|Et String lif Ol && &3HZEQISF]
=3 =9 =R Qtol gt [if 3 && SHEH|LUHZ]
[property =& #%/2H
=T [if 3 && SHEH|UHD]
PHEZR/ALEEZSR U [if 3 && SHEH|UHZ]
7|Et String [if 23 && SHEH|ZHZ]
2 =% sl 2o & [if 92 && 23201431
[property 23 #<22H
st lif 22 && 2191483]
PHEZR/AHEER U if 22 && 2a0043]
7|E} String [if €2 && 21243]
=5 o7 518E &R, AKXt [if O|MRHeICH || E=HRS || Y=
22l
S|8a|X| e CHEXH, AR | [if O|M RSt | ESHRCH | Y2
2/2h
“true”/"false” [if O|MEHRICt | =Z= RIS || E=H
2/2eh
7|Et String [if O[St || E=EHR || Y=
?leh
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2.2

8K @2 A, &= | [if O|MELC | ==t || 2=
21eh

"true”/"false” [if O|HHRCH || == &R | L=
2leh

7|E} String [if olxlLIet || S Helet | Y3
2104
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Testing Result
Test Case Num. Key Result

1 Single P
2 Single P
3 (Key = 1.1.1.1.1.0.0.1.1.) F
4 (Key = 1.1.1.1.1.0.0.1.2) F
5 (Key = 1.1.1.1.1.0.0.1.3) F
6 (Key = 1.1.1.1.1.0.0.14)) F
7 (Key = 1.1.1.1.1.0.0.2.1) F
8 (Key = 1.1.1.1.1.0.0.2.2) F
9 (Key = 1.1.1.1.1.0.0.2.3) F
10 (Key = 1.1.1.1.1.0.0.24) F
1 (Key = 1.1.1.1.1.0.0.3.1) F
12 (Key = 1.1.1.1.1.0.0.3.2) F
13 (Key = 1.1.1.1.1.0.0.3.3) F
14 (Key = 1.1.1.1.1.0.0.34) F
15 (Key = 1.1.1.1.1.0.04.1) F
16 (Key = 1.1.1.1.1.0.04.2) F
17 (Key = 1.1.1.1.1.0.04.3) F
18 (Key = 1.1.1.1.1.0.044) F
19 (Key = 1.1.1.1.2.0.0.0.0.) P
20 (Key = 1.1.1.1.3.0.0.0.0.) P
21 (Key = 1.1.1.1.4.0.0.0.0.) P
22 (Key = 1.1.1.2.0.0.0.0.0.) P
23 (Key = 1.1.1.3.0.0.0.0.0.) P
24 (Key = 1.1.1.4.0.0.0.0.0.) P
25 (Key = 1.1.1.5.0.0.0.0.0.) P
26 (Key = 1.1.2.0.0.0.0.0.0.) P
27 (Key = 1.1.3.0.0.0.0.0.0.) P




28

ey = 1.1.4.0.0.0.0.0.0.)

(K P
29 (Key = 1.1.5.0.0.0.0.0.0.) P
30 (Key = 1.2.0.0.0.0.0.0.0.) P
31 (Key = 1.3.0.0.0.0.0.0.0.) P
32 (Key = 1.4.0.0.0.0.0.0.0.) P
33 (Key = 1.5.0.0.0.0.0.0.0.) P
34 (Key = 2.1.1.0.0.1.0.1.1.) F
35 (Key = 2.1.1.0.0.1.0.1.2.) F
36 (Key = 2.1.1.0.0.1.0.1.3)) F
37 (Key = 2.1.1.0.0.1.0.1.4)) F
38 (Key = 2.1.1.0.0.1.0.2.1.) F
39 (Key = 2.1.1.0.0.1.0.2.2.) F
40 (Key = 2.1.1.0.0.1.0.2.3)) F
41 (Key = 2.1.1.0.0.1.0.2.4.) F
42 (Key = 2.1.1.0.0.1.0.3.1.) F
43 (Key = 2.1.1.0.0.1.0.3.2.) F
44 (Key = 2.1.1.0.0.1.0.3.3) F
45 (Key = 2.1.1.0.0.1.0.3.4.) F
46 (Key = 2.1.1.0.0.1.04.1.) F
47 (Key = 2.1.1.0.0.1.04.2.) F
48 (Key = 2.1.1.0.0.1.0.4.3.) F
49 (Key = 2.1.1.0.0.1.0.4.4.) F
50 (Key = 2.1.1.0.0.2.0.0.0.) P
51 (Key = 2.1.1.0.0.3.0.0.0.) P
52 (Key = 2.1.1.0.0.4.0.0.0.) P
53 (Key = 2.1.2.0.0.0.0.0.0.) P
54 (Key = 2.1.3.0.0.0.0.0.0.) P
55 (Key = 2.1.4.0.0.0.0.0.0.) P
56 (Key = 2.1.5.0.0.0.0.0.0.) P
57 (Key = 2.2.0.0.0.0.0.0.0.) P
58 (Key = 2.3.0.0.0.0.0.0.0.) P
59 (Key = 2.4.0.0.0.0.0.0.0.) P
60 (Key = 2.5.0.0.0.0.0.0.0.) P
61 (Key = 3.1.0.0.0.0.1.1.1.) P
62 (Key = 3.1.0.0.0.0.1.1.2.) F
63 (Key = 3.1.0.0.0.0.1.1.3.) F
64 (Key = 3.1.0.0.0.0.1.1.4.) F
65 (Key = 3.1.0.0.0.0.1.2.1.) P




66 Key = 3.1.0.0.0.0.1.2.2)

67 Key = 3.1.0.0.0.0.1.2.3)

68 Key = 3.1.0.0.0.0.1.24.)

69 Key = 3.1.0.0.0.0.1.3.1))

70 Key = 3.1.0.0.0.0.1.3.2)

71 Key = 3.1.0.0.0.0.1.3.3)

72 Key = 3.1.0.0.0.0.1.34.)

73 Key = 3.1.0.0.0.0.1.4.1)

74 Key = 3.1.0.0.0.0.1.4.2)

76 Key = 3.1.0.0.0.0.1.4.4.

77 Key = 3.1.0.0.0.0.2.0.0.

78 Key = 3.1.0.0.0.0.3.0.0.

79 Key = 3.1.0.0.0.0.4.0.0.

80 Key = 3.2.0.0.0.0.0.0.0.

81 Key = 3.3.0.0.0.0.0.0.0.

82 Key = 3.4.0.0.0.0.0.0.0.
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83 Key = 3.5.0.0.0.0.0.0.0.
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47/83 = 56.6% Pass
3 PairWise Testing Report

3.1  Testing Set
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3.2

2z =Y Lo el etel 2t 1
=T 2
PHEZR/ALEER & 3
7|E} String 4
JEEE] 9| ofLfo] 911, DBO| A= 3 :
9| O|Ljo T, DBO| Q= 2
QHEZS/MCER? Y 3
ST 4
7|Et String 5
IS S8E tEAL &=At 1
85X @2 HEAL, &2 Xt 2
“true”/"false” 3
7|E} String 4
Testing Result
Test Case Num. Key Result

1 13.3.3.2.2 F

2 154.2.14.
3 1.4.2.1.54. F
4 1.2.1.223 F
5 1.1.1.24.1. F
6 1.3.3.3.3.1. P
7 1.5.24.53. F
8 2.3.2.253. F
9 2.24.1.3.2. F
10 2414.24. F
1 2.1.4.333. F
12 2.23.1.1.1. P
13 2.53.3.34. F
14 24.234.2. F
15 344441, P
16 3.1.3.3.5.1. P
17 3.3.1.3.1.4. F
18 3.5.3.243. F
19 334122 F
20 3.2.2432. F
21 422343. F




41.24.1.2.
4.52.1.2.1.

44.1234.
433453.

4.24122.

51.1.144.
54.3213..

55.1.4.5.2.
52.2.4.3.1.

534242
51.2.1.23.

524354

22
23

24
25

26
27
28
29
30
31

32
33
6/33 = 18.2% Pass

Brute Force Testing Report

4

Testing Result

4.1
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9/14 = 64% Pass
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4.2  Failed Case Report

Num

Report

SHe7b of™5] 02 AxE EXY

—’F—XH5PX| Ee AXZ O/M 7ts

ST

Az O[Hl Al =2 & =Zetot 50| OHF

[o] X=X
[EcN=}

Payback &M d Al oleIXz2| E|X|

g hNjw| N | —

Ol SHA|E2 OHHAIX] =5

Overall

51  System Test Result
5.1.1 Category Partition Test

5.1.2 47/83 = 56.6% pass

5.1.3 Pairwise Test

6/33 = 18.2% pass

5.1.4 Brute Force Test

9/14 = 64% Pass

Summary
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